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7. Copiay completa.
a7x+7y=7-(J+)

rr?-d=x.(0+0-D

©)5x2+ 10xy + 15x = 5+ (J+ [J+ [
£) 242~ 8ab + 4a2* = 2a. (]-[0+ )
) 6a%b + 3ab® —9ab = 3ab - (] +[1-[)
ATx+Ty=7-(x+y)

b)6a—96=3 - (2a-3b)

2+ xy=x-(2+))

Dx+xd-xd=x(l+x-2)

€)5x% + 100y + 15x= 5x - (x + 2y + 3)

£) 2a% - 8ab + 4a°b* = 2a - (a— 4b + 2ab?)
) 6a%h + 3ab> —9ab=3ab - (2a + b~ 3)

8. Extrae factor comiin.

a)8x+ 8y b)3a+3b ©)5x+ 10
xt+xy )24 + 6a 2 +7y
) 8- (x+)) b)3-(a+b) 5-(x+2)

x-(x+) 02 (a+3) 97-07+7)

B8+ 4a
h)6a+ 24>
d4-2+a)
h2a-(3+a?)




